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throughout the paper.
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Attempt Five questions ;ihbluding
Question No. 1 which is c'ompuisory and
atleast one guestion from Part B.

All guestions .carry equal marks.
Ffarf g7 FWE | GBI T U 73T BT B
N A d wHOE §ET & o B
wift v # I T
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1. Attempt briefly any four of the following :—

(i) Common Intention is the gist of offence under
Section -34 of IPC, 1860.

(ii) Legal insanity as a defence to criminal charge.
(iii) Evidentiary value of FiR.
(iv) Rights of an arrested person.

(v) Rule of “autrefois acquit” and “autrefois
convict”, (4x5=20)

Pl & 9@ Bl ok & ot @em ¥ ffag:
(i) wdim <z fen, 1860 & UM 34 ® F=AT FWY
FIMUR T FEE F L
(i) Ffts IRY ¥ ufaen & W ¥ fftw At
(iii) worr soen R =1 witas wem
(iv) fierawr g =afe @ Jfimw )
(v) “wegrmRe” ok “of dwffe” @ R

PART A (¥ &)

2. Critically analyse the Supreme Court Judgment in the
case of State of Maharashta V.M. H. George (1965)!
SCR 123. Also explain whether mensrea.in the sense
of actual knowledge of the acts being done contrary
to Law, is essential for convicting any accused in
Criminal Law ? 20)
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I A ® RT A% FERAE S T T4 W
(1965 )1 T & IR 123 B_F ¥ Rv W Fofa =1 wherers
R Aifr | 75 W T e B R @ wRew e
W @ e A A weE B o ¥ i T Rl
w0 % R ¥ 0 g @ dufe =Y 3 e
LG

3. What do you understand by the latin maxim “ignorantia
facti excusat ignorantia juris non excusat” ? Explain
with the help of decided cases. (20)

;M @~ “qo I FivE WY D TN 2 g AR
& FEREE A X A Fm e ¥ ) faRae S
W & e Sifm |

4. In the course of a fight Ram fired a gunshot at Shyam
which was successfully cvaded by the latter.
Thereafter shyam smatched the gun from Ram and
fired at him resulting in Ram’s death. During the trial
Shyam pleads right of Private defence in his defence.
Discuss whether this defence will be available to
the accused Shyam or not, with the help of decided
cases ? (20)

TF WE & N T X TR W UF 95 B g B
WA WhAAEE T R | e e wmw X W R
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BT M T W W w R e sRumeas 9
TG B TS| AR @ R mm Y e wRen ¥ wmde
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5. Radha had a bitter quarrel with her husband Kishan,
so much so that she threatened to commit suicide and
ran upstairs to jump from the roof of the house. Kishan
did nothing to stop her, but her maid servant followed
her and held her back from jumping down. Would
Radha be guilty of attempting to commit suicide ?
Discuss bringing out clearly the difference between
preparation for and attempt at commission of a crime.
| (20)
T & U I T & v s iaw s gan B 9w
T A W o @ qw @ A Y DA T D
fom sw ARA At @k s w1 T T A I R R
o T8 R Ry e el X SE S B ww
IR AW T g ¥ TwE RAT 1w oo smewew @
W T AW BN 7 R sy ® s @ R dad
KT F AR D A W F GAN WY g R
e |

6. (a) What is an unlawful assembly ? Why is such an
assembly called unlawful ? Explain.
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(b) What are the essential conditions to invoke the
defence of involuntary drunkenness under the
Indian Penal Code ? Explain with the help of
decided cases. (10%x2=20)

(%) ffafeg s =@ Bar 2 7 W e A Rl =@
w8 W E 7 W AT

(@) W 3T wiw & 980 Ffos TaTw o wiown
Ao o @ fow ww-Tn aEws I € ¢ AR
A W wEES F TWe Hiew )

. - PART B (¥mr @)

-

7. (a) “Anticipatory bail, being an extra-ordinary remedy
must be allowed only in extra-ordinary situations™.
Examine the above statement critically and also
comment uwpon whether it can be granted in a
blanket fashion ?

(b) Critically analyse the power of the Supreme Court
to transfer cases and appeals. (10x2=20)

(=) “fiwr TME T AR ITER 2 Rt seEla Rad
gaeor fafmt ¥ @ aFt @iy 3w ww @t
wieens AT e g ™ w® f Ruh fofee &
T WA G BT H aE WeR Fhar W wfd ?

P.T.O.
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(@) a9 FR i = I T D Ry A <
w1 wieedl @t wheres we A |

8. (a) “The western concept of plea bargaining is best
suited to Indian conditions”, critically analyse this
statement.

(b) When can inquiry and trial be held in the absence
of the accused ? Explain. (10%x2=20)

(F) Plea bargaining ® W= dace wdim gl
F FEIE FIEH /I B W W TS Wi
Eaic e

(@) g N sgefaly ¥ wiw ik AR w5 W= @@
27
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